Smooth Cylinder
Double Acting, Single Rod

Series CJ2Y

210, 216

* Foot bracket and flange bracket are shipped
together with the product, but not assembled.

O CJ2y
With autoswitch o3 D NP3

With auto switch
(Built-in magnet)

Head cover port location®

Mounting¢ Bore sizee¢

B Basic 10 | 10 mm

E | Double-side bossed 16 | 16 mm

D Double clevis

L Single foot

M Double foot

F Rod flange

G Head flange

How to Order

page 3.

¢ Cylinder standard stroke (mm)
Refer to “Standard Strokes” on

o Rod end bracket
Nil None
\' Single knuckle joint

W Double knuckle joint
T Rod end cap (Flat type)
U Rod end cap (Round type)

* Rod end bracket is shipped together
with the product, but not assembled.

Z_

16
| |

6|0

# A knuckle joint pin is not provided
with the single knuckle joint.

B|16

60

Z_

M9BW

B

TSmooth cylinder

A Perpendicular e
Nil to axis § (
R Axial § e

Pivot bracket

Nil

None

N

Pivot bracket is shipped together with the product.

+ Only for CJ2D (double clevis)
 Pivot bracket is shipped together with the product, but not assembled.

= For double clevis, the product is perpendicular to the cylinder axis.
* For double-side bossed, the product is perpendicular to the cylinder axis.

Auto switchl

|

Nil [ Without auto switch ‘

\—lL
Auto switch mounting type

A

* For applicable auto switches,
refer to the table below.

Number of
auto switches

Rail mounting

Band mounting

# For rail mounting, screws

Nil

2 pcs.

S

1 pc.

n

£

n” pcs.

and nuts for 2 auto switches
come with the rail.

= Refer to page 13 for auto
switch mounting brackets.

Made to Order¢

Refer to page 3 for details.

= Refer to “Ordering Example of Cylinder Assembly” on page 3.

Applicable Auto Switches/Refer to the WEB catalog or Best Pneumatics No. 3 for further information on auto switches.

Electical 5 Wiring Load voltage Auto switch model Lead wire length (m) Previred | Applicable
Type| Special function ] Band mounting Rail mounting 05| 1|35 |None| .
enty = (Output s AC Perpendicular| In-line | Perpendicular| In-line | (Nil) [ (M) | (L) | (2) | (N) connector load
3-wire (NPN) 5V 12V MINV M9N MINV M9N ® ®@¢/® O|—| O 1C cicut
£ L Grommet 3-wire (PNP) ' M9PV MoP M9PV M9IP ® ¢/ O|—| O
-‘é o-wire 12V M9BV M9B M9BV M9B ® ®@¢/® O|—| O N
o Connector — H7C J79C — e — o0 |0 —
'g Diagnostic indcation 3-wire(NPN) 5V.12V MONWV | MONW | MONWV | MONW (| @ (@ /@  O|—| O ICaircut| Relay
g (2-color indication) Yes| 3-wire (?NP) 24V — MOPWV | MO9PW | M9PWV | M9PW | @ @/ ®@ O|—| O PLC
= 2-wire 12V M9BWV | M9BW | M9BWV | MOBW | @ (@ /@ O|—| O —
@ ) Grommet 3-wire (NPN) MONAV*' | MONA*! | MONAV*' | MONA*' | O |[O | @ |O|—| O -
2| Nator resitant siepwe| |2V M9PAV+'| MOPA™ | M9PAV* | M9PA* | O (O @ |0 |—| o | ™
@ | (@eoborindecaton) 2-wire 12V M9BAV* | MOBA*' | MOBAV* | M9BA* | O |O |@|O|—| O | —
With diegnostic output (2-colorincicaton) 4-wire (NPN) 5V,12V — H7NF = F79F ® | — @ O0|— O |ICcircuit
5 | | 5V | — A%V | A9% | A%V | A% | ® |—|®| —|—| — |Comit| —
E st — [ 200v | — - A72 | AT2H | @ |— @ |—|— —
o —_ | 100 V A93V*2 A93 A93V*2 A93 [ ] [ ] —| —
3 No| i 100Vorless| A9OV | A90 | A9V | A90 | ® |—|@|—|—| — |ICcicut| Relay,
-wire 12V
A Yes 24V — — C73C A73C — o —| o000 — — | PLC
& Connector |No 24V or less — C80C A80C = ®  —|©|® | ®| — |(Ccicut
Diagnosticndicaion (2<clor ndcaton) | Grommet | Yes — — — — A79W — o — 0| —|— — —

=1 Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please consult with SMC regarding water resistant types with the above model numbers.
=2 1 m type lead wire is only applicable to D-A93.

« Lead wire length symbols: 0.5 m ----

im
3m -

-+ Nil (Example) MONW
-+ M (Example) MONWM
- L (Example) MONWL

= Since there are other applicable auto switches than listed above, refer to page 14 for details.
= For details about auto switches with pre-wired connector, refer to the WEB catalog or Best Pneumatics No. 3.
= Solid state auto switches marked with “O” are produced upon receipt of order.
* The D-A900/MIUOO/A700/A800/F700/AJ700 auto switches are shipped together, (but not assembled). (For band mounting, only the auto switch mounting brackets are assembled before shipment.)

®2

Z (Example) MONWZ
N (Example) H7CN



Smooth Cylinder
Double Acting, Single Rod

Specifications

Series CJ2Y

Bore size (mm)

10

[ 16

Action Double acting, Single rod
Fluid Air

Proof pressure 1.05 MPa
Maximum operating pressure 0.7 MPa

Ambient and fluid temperature

Without auto switch: —10°C to 70°C
With auto switch: —10°C to 60°C

(No freezing)

CG1Y-Z | CM2Y-Z e pAEra

Symbol Cushion Rubber bumper (Standard equipment)
ymbo Lubrication Not required (Non-lube)
Rubber bumper Stroke length tolerance 5°
D Piston speed 5 to 500 mm/s
:":J - 210 0.035 J
‘ ‘ Allowable kinetic energy 216 0.090 J . E
9]
HE
Minimum Operating Pressure =N
— Qo 1
Unit: MPa | £ =
%)
Bore size (mm) 10 [ 16 <
Minimum operating pressure 0.03 o
>
Made 1 Standard Strok Q
Grder | Made to Order tandard Strokes 8
(For details, refer to pages 174 to 191.)
Symbol Specifications Bore size (mm) Standard stroke (mm) Maximum manufacturable stroke (mm)
XA | Change of rod end shape 10 15, 30, 45, 60, 75, 100, 125, 150 400 ¢>’;
XC3 | Special port locati 16 15, 30, 45, 60, 75, 100, 125, 150, 175, 200 400 c
= peC|a po oca. on - - Note 1) Manufacture of intermediate strokes at 1 mm intervals is possible. (Spacers are not used.) (&)
-XC9 | Adjustable stroke cylinder/Adjustable retraction type Note 2) Applicable strokes should be confirmed according to the usage. For details, refer to “Air —
Cylinders Model Selection” on front matter pages of the Best Pneumatics No. 2 or the N
WEB catalog. In addition, the products that exceed the standard stroke might not be able >'.
Mounting Brackets/Part NO. to fulfill the specifications due to the deflection etc. CN’
- (&)
Mounting Bore size (mm) . . I
bracket 10 16 Mounting and Accessories/ror details, refer to page 8. N
- 1
Foot CJ-L010C CJ-L016C @---Mounted on the product. O---Please order these separately. §
Flange CJ-FO10C CJ-FO16C ] ] Double™ o)
T-bracket* CJ-To10C | CJ-T016C Mounting Basic Foot Flange clevis o
# A T-bracket is used with double clevis (D). T [Mounting nut ™Y Y Y — N
g Rod end nut [ [ ] [ ) [ ] >
& | Clevis pin — — _ ® g
- Single knuckle joint O O O O ol O
S | Double knuckle joint* @) ©) @) @) § —
8— Rod end cap (Flat/Round type) O O O O 2|
°l v
T-bracket — — — O 3l o
= A pin and retaining rings are included with double clevis and/or double knuckle joint. 21 O
%)
D S—
3
Ordering Example of Cylinder Assembly §
(&)
Cylinder model: CDJ2YD16-60Z-NW-M9BW-B Double clevis | ===
2/ | [
s
(&)
Mounting D: Double clevis 5
Pivot bracket N: Yes ‘;
Rod end bracket W: Double knuckle joint 7]
Auto switch D-M9BW: 2 pcs. ..g
Auto switch mounting B: Band mounting Pivot bracket <<
* Pivot bracket, double knuckle joint and auto switch are Auto switch g
shipped together with the product, but not assembled. Band mounting S
o
@
k]
=

3®




Smooth Cylinder
Double Acting, Single Rod

APrecautions

1Be sure to read before handling. Refer to back cover for Safety Instruc-1
ltions. For Actuator and Auto Switch Precautions, refer to “Handling Pre-1

cautions for SMC Products” and the Operation Manual on SMC website,I
1 http://www.smcworld.com 1

| Mounting
ACaution

1. During installation, secure the rod cover and tighten by applying an appropriate tightening
force to the retaining nut or to the rod cover body.
If the head cover is secured or the head cover is tightened, the cover could rotate, leading
to the deviation.

2. Tighten the retaining screws to an appropriate tightening torque within the range given be-
low. Apply a Loctite® (no. 242 Blue) for mounting thread.

Bore size | Proper tightening torque for mounting thread (N-m)
(mm) (Tightening torque for mounting nut)
10 3.0t0 3.2
16 5.4105.9

3. To remove and install the retaining ring for the knuckle pin or the clevis pin, use an appro-
priate pair of pliers (tool for installing a type C retaining ring).
Especially with 10, use ultra thin pliers.

4. In the case of auto switch rail mounting type, do not remove the rail that is mounted. Be-
cause retaining screws extend into the cylinder, this could lead to an air leak.

Weights
)

Bore size (mm) 10 16
Basic 22 46
Basic weight Axial piping 22 46
(When the stroke is zero) | Double clevis (including clevis pin) 24 54
Head-side bossed 23 48
Additional weight per 15 mm of stroke 4 7
Single foot 8 25
Mounting bracket | Double foot 16 50
weight Rod flange 5 13
Head flange 5 13
Single knuckle joint 17 23
Double knuckle joint (including knuckle pin) 25 21
Accessories Rod end cap (Flat type) 1 2
Rod end cap (Round type) 1 2
T-bracket 32 50

* Mounting nut and rod end nut Calculation: Example) CJ2YL10-45Z

are included in the basic weight. © BasiC WEIght-- - eeeeseeeerrieiciniinnnes 22 (210)

Note) Mounting nut is not included
in the basic weight for the
double clevis.

® Additional weight-- -- 4/15 stroke

® Cylinder Stroke: -« -seseeseeseencanns 45 stroke

* Mounting bracket weight.------...... 8 (Axial foot)
22 +4/15x45+8=42¢g

Series CJ2Y

Smooth Cylinders

| CcSs2y |CA2Y-Z

Low Speed Cylinders

AutoSwitch‘ | CUX | cQ2Xx | CQasXx |CM2X-Z| CJ2X-Z‘ |CQZY-Z| cQasy

3-1a

| CM2Y-zZ ‘ CJ2yY-Z

MBY-Z | CG1Y-Z

Made to Order




Series CJ2Y

Dimensions

Basic (B)

CJ2yB ]Bore size\ - ]Stroke\ ] Head cover port location | Z

Section Y detail

Y& Mounting nut

Rod end nut NN\ Y GA  Piping port 2 x M5 x 0.8 GB__
S o )
=
A F | NA NB
H S + Stroke
Z + Stroke
Piping port M5 x 0.8
Head cover port location
Axial location (R)
+ The overall cylinder length does not change.
Y% Refer to page 8 for details of the mounting nut.
(mm)
Bore size A B C D F GA GB H MM NA NB NDh8 NN S z
10 15 12 14 4 8 8 5 28 M4 x 0.7 125 | 95 83020 M8 x 1.0 46 74
16 15 183 | 20 5 8 8 5 28 M5 x 0.8 125 | 9.5 103 020 M10x 1.0 47 75
Single foot (L)
CJ2yL ’Bore size‘ - ’Stroke‘ ’ Head cover port location ‘ V4
Y% Mounting nut
Rod end nut NN \ F GA Piping port 2 x M5x 0.8
Cover surface
MM
. - DTL\ s . &
) AiE "
B - > z = = o = oo 4
135 t @
_I T
: o 0
B-os
LX H
LZ A Piping port M5 x 0.8
2xoLC XY | NA NB
Mounting hole H S + Stroke
Z + Stroke
""""""" { Head cover port location
. . Axial location (R)
¥ Refer to page 8 for details of the mounting nut. * The overall cylinder length does not change.
(mm)
Bore size A | B|C|D|F|GA|GB|H |[LB|LC|LH|LT |LX|LY|LZ MM NA | NB NN S Y | Z
10 15|12 |14 | 4 8 | 8 5 28|15 (45| 9 | 16| 24 |165| 32 | M4x0.7 {125/ 9.5 | M8x1.0 | 46 | 5 7 | 74
16 15 |18.3| 20 | 5 8 | 8 5 |28 | 23 (55| 14 |23| 33| 25 | 42 | M5x0.8 (125| 9.5 | M10x1.0| 47 | 6 | 9 | 75




Dimensions

Double foot (M)
CJ2YM ]Bore size\ - ]Stroke\ y4

Smooth Cylinder
Double Acting, Single Rod

Series CJ2Y

H .
F lcA ¢ Mounting nut Y% Mounting nut
Rod end nut NN Piping port 2 x M5 x 0.8 NN
Cover surface T
MM
- [ — % ﬁ T /
+ [ M > } ) - - - -
) - -
T H— -
T /| NZ
LX ar
LZ
4xgLC A
Mounting hole X| Y | NA NB|Y X
S + Stroke
____________ l LS + Stroke
' Z + Stroke
Y Refer to page 8 for details of the mounting nut.
(mm)
Bore size A | D F |GA|GB| H |[LB|LC|LH|LS|LT|LX|LY|LZ MM NA | NB NN S | X |Y | Z
10 15| 4 8 8 5 |28 |15 (45| 9 |60 16| 24 |16.5| 32 | M4x0.7 |125| 95| M8x1.0 | 46 | 5 7 | 86
16 15| 5 8 8 5 |28 |23 55|14 |65 23| 33|25 |42 | M5x0.8 125 9.5 | M10x1.0| 47 | 6 9 | 90
Rod flange (F)
CJ2YF ]Bore size\ - ]Stroke\ ] Head cover port location \ Z
¢ Mounting nut
Cover surface Rod end nut NN GA  Piping port 2 x M5 x 0.8
(¢)
- : MM a # ¥ - o
S i -
d L | m| > muy y B B B B os| |
Wi y | o
=
i a T
FX FT Bos
FZ 2% oFC A F | NA NB
Mounting hole H S + Stroke
Z + Stroke
Piping port M5 x 0.8
Head cover port location
Axial location (R)
¥ Refer to page 8 for details of the mounting nut. * The overall cylinder length does not change.
(mm)
Bore size A B C D F |FB | FC | FT | FX | FY | FZ | GA | GB | H MM NA | NB NN S Y4
10 15 | 12 | 14 4 8 13 | 45 |16 | 24 | 14 | 32 8 5 28 | M4x0.7 |125| 95 | M8x1.0 | 46 | 74
16 15 | 18.3| 20 ) 8 19 | 55 (23 | 33 | 20 | 42 8 5) 28 | M5x0.8 |125| 95 | M10x1.0 | 47 | 75

| CM2Y-zZ ‘ CJ2yY-Z

MBY-Z | CG1Y-Z

Smooth Cylinders
| cs2y |CA2Y-Z

Low Speed Cylinders

AutoSwitch‘ | CuX | cQ2Xx | CcQasXx |CM2X-Z| CJ2X-Z‘ |CQZY-Z| casy

Made to Order




Series CJ2Y

Dimensions

Head flange (G)

CJ2YG ]Bore size\ - ]Stroke\ y4

Rod end nut % Piping port 2 x M5 x 0.8 ¥ Mounting nut Cover surface
NN NN
¢}
o MM a =+
S i
. Erip< : e e
N u T
B-0s A F | .NA NB|| [FT FX 2xoFC
H S + Stroke F FZ Mounting hole
Z + Stroke
¥¢ Refer to page 8 for details of the mounting nut.
(mm)
Bore size A B C D F FB | FC FX | FY | FZ | GA | GB H MM NA | NB NN S z
10 15 12 14 4 8 13 | 45 24 14 | 32 8 5 28 M4x0.7 |125| 95 | M8x 1.0 46 82
16 15 | 18.3 | 20 5 8 19 | 5.5 33 | 20 | 42 8 5) 28 | M5x0.8 |125| 9.5 | M10x1.0 | 47 | 83
Double clevis (D)
CJ2YD |Bore size|— |Stroke| Z
oCDH9 "3 %"
GA Piping port 2 x M5 x 0.8 NB Clevis pin (acddQZgjggg)
Rod end nut GB
MM\ g ¥ - | &
(e . . = = A=Al
| - |
A NA cx:os
H S + Stroke U cz.%
Z + Stroke R
ZZ + Stroke
= A clevis pin and retaining rings are included.
(mm)
Bore size A B C |[CD(cd) CX cZ D GA | GB H MM NA | NB R S U 4 Y44
10 15 12 14 3.3 3.2 12 4 8 18 28 M4 x0.7 | 125|225 5 46 8 82 87
16 15 | 183 | 20 5 6.5 | 18.3 5 8 23 28 M5x0.8 | 12,5 | 27.5 8 47 10 85 93




Dimensions

Double-side bossed (E)
CJ2YE ]Bore size\ - ]Stroke\ y4

Smooth Cylinder
Double Acting, Single Rod

Section Y detail ¢ Mounting nut
Rod end nut NN % Piping port 2 x M5 x 0.8
MM
og 1 { ‘
A F | NA
(=] . .
8 Section YY detail
H S + Stroke
Z + Stroke
Y% Refer to page 8 for details of the mounting nut.
(mm)
Bore size A B C D F GA GB H MM NA NB NDh8 NN S Y4
10 15 12 14 4 8 8 5 28 M4 x 0.7 125 | 95 8.0 020 M8 x 1.0 46 82
16 15 183 | 20 5 8 8 5 28 M5 x 0.8 125 | 9.5 109 02 M10x 1.0 47 83

Series CJ2Y

Low Speed Cylinders

AutoSwitch‘ | CuX | cQ2Xx | CcQasXx |CM2X-Z| CJ2X-Z‘ |CQZY-Z| casy

Smooth Cylinders

| CcSs2y |CA2Y-Z

| CM2Y-zZ ‘ CJ2yY-Z

MBY-Z | CG1Y-Z

Made to Order




Series CJ2Y
Dimensions of Accessories

Single Knuckle Joint

Clevis Pin

Knuckle Pin

MM @NDHi1o
| L L
N BB ] mt Li tm o ! Li tm o
i gl 8 S
At U1 '8'? I NX=8% < Ll B
Mall - - ke, - U8
L |7 12 1) st
Material: Rolled steel Material: Stainless steel Material: Stainless steel
Applicable Applicable Included Applicable Included
Part no. e A1|Li| MM |NDx1o|NX|R1| U1 Part no. e Dd9 [d (L |Lijm|t waiing g Part no. e Dd9 (d (L |Lijm|t waiing g
1-J010C| 10 | 8 |21|M4x07(3.3%°¢|3.1| 8 | 9 CD-J010| 10 [3.333%%0| 3 [152122]1.2{0.3|Type C 32 CD-J010| 10 (3.370%%| 3 [152[122{1.2|0.3|Type C32
I-JO16C| 16 | 8 |25|M5x08|5'0°*?|6.4[ 12|14 CD-Z015| 16 |5730a0|4.8(227(183/1.5/0.7| TypeC5 1Y-JO15| 16 |573020 |4.8(166(122(1.5/0.7 | TypeC5
* Retaining rings are included with a clevis pin. * For size 810, a clevis pin is diverted.
* Retaining rings are included with a knuckle pin.
Double Knuckle Joint Mounting Nut Rod End Nut
-
d
MM gND hole o L / d
Axis dg | /
— BR AR -
I NJ_;é; (Y o O}l &
| | T &J t: hy
A Ui g2 NX 82 B2 He
L1 7 12
B Hy
Material: Rolled steel Material: Carbon steel Material: Carbon steel
Partno. | e | A1 | L | Li MM Applicable Applicable
Y-J010C 10 8 1152] 21 [Max07 Part no. B Bi | Ci d Hi Part no. BT B2 | C2 d H2
Y-J016C 16 11 |16.6| 21 | M5x0.8 SNJ-010C| 10 11 (127 M8x1.0 | 4 NTJ-010C | 10 7 | 81| M4x07 | 3.2
Y-JO10C (3.373020(3.3'0%*| 32 | 8 10
Y-JO16C | 550% | 5'0°® | 6.5 | 12 | 10
= A knuckle pin and retaining rings are included.
T-bracket Rod End Cap
S + Stroke) (U N
(S + Stroke) _ (U) TDh1o 8 Flat type/CJ-CFOOO Round type/CJ-CROOO
5
E A MM A MM
N /*
1112 I a
4xoTC e :[ g 1@}
N
N W
E
TY Material: Polyacetal
Tw Part no i
: Apicatlel Al p | L| MM [N|R|wW
Flat type |Round type | bore sizé
Part no. (P18 7¢ | TDwo | TH|TK|TN|TT|TU|TV [TW|TX|TY |TZ CJ-CF010 | CJ-CRO10] 10 |8 | 10|13 M4x07 | 6 10 8
OIEISIZe CJ-CF016 | CJ-CRO16 | 16 |10|12|15| M5x0.8 | 7 | 12|10
CJ-T010C| 10 45(3.3%9°*% 29|18 (31| 2 | 9 |40|22|32|12]| 8
CJ-T016C| 16 55| 579 [35(20|6.4(2.3|14|48|28|38|16|10

+ A T-bracket includes a T-bracket base, single knuckle joint, hexagon

socket head bolt and spring washer.

= For dimensions of (U) and (S + Stroke), refer to the double clevis

drawing on page 6.



Series CJ2Y
Auto Switch Mounting

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

Solid state auto switch
<Band mounting>

D-M9
D-MoOOW
D-M9CJA

D-MoIV
D-MoCIMV
D-M9JAV

D-H7O
D-H7OW
D-H7BA
D-H7NF
D-H7C

U
I
7]

6.5

U
I
+ »
L .l165

Auto switch

=

22

A

(24)

( ): Dimension of the D-M9UJA
A and B are the dimensions from the end of the
head cover/rod cover to the end of the auto switch.

Auto switch

A=

20

(22)

( ): Dimension of the D-M9UJAV
A and B are the dimensions from the end of the
head cover/rod cover to the end of the auto switch.

Auto switch

Reed auto switch
<Band mounting>

D-A9]

D-A9V

D-C701/C80
D-C73CL1/C80C

1
I
[

6.5

N
>
(2]
=
(&]
U
>
N
=
(&}
N
>
-
(O]
(&)
Auto switch —
N
o| >
ol
S gl =
>
A 24.5 B (IJ —_—
(22) gl N
gl >
( ): Dimension of the D-A96 (x| N
A and B are the dimensions from the end of the S
head cover/rod cover to the end of the auto switch.
>
(3]
(/)]
(&)
Auto switch (>,;
e}
(&)
== —
N
A 22 B >
(2]
A and B are the dimensions from the end of the 8
head cover/rod cover to the end of the auto switch. b
N
x
N
-
(&)
N
x
N
=
Auto switch s O
e ——
=
| > X
I ol @
ol O
[0}
& (&)
A B =
3
x
(2]
o
(&)
X
o}
(&)

Made to Order




10

Series CJ2Y

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height
<Rail mounting>

<Rail mounting>
D-M9[] D-A9]
D-M9CIW
D-M9LIA Auto switch Auto switch
ol Y ) ‘ DY ‘
T =% T & =
12.5 12.5 A 235 || B 125 125 A 26 B
(25.5) ‘ (23.5)
( ): Dimension of the D-M9LJA (): Dimension of the D-A96
D-M9C1V D-A9C1V
D-M9CIWV
D-M9CJAV Auto switch Auto switch
o) — : o j i ‘
T SR = g 3 = -
14.5 [14.5 A 21.5| | B 12.5 [12.5 A 235 | |.B
(23.5)
( ): Dimension of the D-M9UAV
D-F701/J79 D-A701/A80
D-F7O0W/J79W D-A73C/A80C
D-F79F/F7BA Auto switch D-A79W Auto switch
oz | I - "o £Iﬁ o ]\ . Ha
:r_‘l [l C ]
A’:E B A B
D-F70OV/IF7TCIWV D-A7C0H/A80H
D-F7BAV
D-J79C Auto switch

Auto switch
V= ; .‘.
2 m— < i & — —
| Ly -- T
A




Auto Switch Mounting Series CJ2Y

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

Auto Switch Proper Mounting Position (mm)
Auto switch Band mounting
model D-MoC] D.H7L
D-Mo[ 1V D-C7C] D-H7C
D-M9[ W D-A9[] D-C80 D-H7NF
D-M9[JwWV D-A9[1V D-C73C D-H7O0W
D-M9[]A D-C80C D-H7BA
D-M9[JAV
Bore size A B A B A B A B
10 (5)6 (5)6 M2 (12 25 25 1.5 1.5
16 (5.5)6.5 | (5.5)6.5 | (1.5)2.5 | (1.5)2.5 3 3 2 2
* The values in ( ) are measured from the end of the auto switch mounting bracket.
(mm)
Auto switch Rail mounting
model D-A7CH/A80H
D-A73C/A80C
LR D-F701/J79
D-MoLIW D-ASL] it D-F7OVIFTOWY D-F7NT D-A79W
D-MOCIwWV D-A9[ 1V D-A80
D-F79F
D-M9LCIA
D-MOCIAV D-J79C
D-F7BA
D-F7BAV
Bore size A B A B A B A B A B A B
10 4.5 4.5 0.5 0.5 3 3 3.5 3.5 8.5 8.5 0.5 0.5
16 5 5 1 1 3.5 3.5 4 4 9 9 1 1
+ Adjust the auto switch after confirming the operating condition in the actual setting.
Auto Switch Mounting Height (mm)
Auto switch Band mounting
model
D-Mo[] D-Mo[1V D-C7[1/C80
D-M9 1w D-MoIwVv D-H7C/H7OJW D-C73C D-H7C D-A7C]
D-M9[JA D-M9LJAV D-H7NF D-C80C D-A80
D-A9[] D-A9[ 1V D-H7BA
Bore size Hs Hs Hs Hs Hs Hs
10 17 18 17 19.5 20 16.5
16 20.5 21 20.5 23 23.5 19.5
(mm)
Auto switch Rail mounting
model
D-M9[]
D oW D-A7CJH/A8OH
) D-F70/J79 D-F70V
D-Mo[ 1wV D-A73C
D-M9CIA D-F7CIW/J79W D-A80C D-F7C0wWV D-J79C D-A79W
D-F7BA/F79F D-F7BAV
D-M9[JAV D-E7NT
D-A9[]
D-A9[V
Bore size Hs Hs Hs Hs Hs Hs
10 17.5 17.5 23.5 20 23 19
16 21 20.5 26.5 23 26 22

11

Smooth Cylinders

| CcSs2y |CA2Y-Z

Low Speed Cylinders

| CuX | cQ2x | caQasx |CM2X-Z| CJ2X-Z‘ |CQ2Y-Z| casy

| CM2Y-zZ ‘ CJ2yY-Z

MBY-Z | CG1Y-Z

Made to Order




Series CJ2Y

Minimum Stroke for Auto Switch Mounting

(mm)
. Number of auto switches
R SW'tCh Auto switch model ) With 2 pcs. With n pcs. (n: Number of auto switches)
mounting With 1 pc. - -
Different surfaces| Same surface Different surfaces Same surface
pheE 15+ 3500 =2) 45 +15 (n-2)
d 10 15 Note 1) 45 Note 1) tooTo5 + n-
DAoL (n=2,4, 6. oD (=2,3.4,5-)
(n=2) _
D-MoCIV 5 15 Note 1) 35 15435 35_+225:; (2 52)
(n=2, 4, 6.-) Note 3) (n=2,3,4,5-)
(n-2) _
By I e
(N =2, 4, 6...) Note 3) (n=2,3,4,5-)
) (n-2) _
Band mounting | p-Ag9rV 5 10 35 10 + 35 > 35—+222 (2 52)
(N=2, 4,6...)Note 3) (n=2,3,4,5-)
D-Cc70J 10 15 50 15+40(%> 50 +20 (n—2)
D-C80 (N =2, 4, 6...) Note 3) (n=2,3,4,5-)
DT 15+ 450 =2) 60 +22.5 (N —2)
D-H7BA 10 15 60 2 Ne2 345
D-H7NF (n=2, 4, 6.-)Note 3) (n=2,3,4,5)
D-C73C (n-2) _
D-C80C 10 15 65 15+ 50— 50 + 5755 L(lns 2)
D-H7C (N=2, 4, 6...) Note 3) (n=2,3,4,5-)
10+10(n-2
DALY 5 - 5 - (n =J:1’ 6~~(-) Note)4)
10+15(n-2
B0 5 - 10 - (n :-'4-1, 5..(.) Note)4)
D-M9[C] 10 _ 10 _ 15+15(n-2)
D-A9] (n =4, 6..) Note 4)
D-MOCIWV 10 _ 15 _ 15+15(n-2)
D-M9[JAV (n =4, 6.--) Note 4)
20+15(n-2
DAL 15 - 15 - (n :-'4-1, 6~~(-) Note)4)
20+15(n-2
D-M9CIA 15 — 20 — o 0% 6__§) o
D-A7[1/A80
Rail mounting D-A7CJH/A80H 5 — 10 — 15_215? (nN_oti)z;)
D-A73C/A80C (n=4,6-)
D-A7(H 5 _ 10 . 15+15(n-2)
D-A80H (n =4, 6...) Note 4)
10+ 15 (n—2)
D-A79W 10 — 15 - (n =4, 6.--) Note 4)
D-F70] 5 . 5 B 15+ 15 (n—2)
D-J79 (n=4, 6..-)Note d)
D-F70IV 5 . 5 . 10+ 10 (n—2)
D-J79C (n =4, 6...) Note 4)
D-F7CIW/J79W 10 _ 15 o 15+ 20 (n—2)
D-F7BA/F79F/F7NT (n=4, 6.-.) Note 4)
D-F7CIWV 10 o 15 o 10+15(n-2)
D-F7BAV (n=4, 6..-)Note d)

Note 1) Auto switch mounting

Note 3) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.
Note 4) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.
However, the minimum even number is 4. So, 4 is used for the calculation when “n” is 1 to 3.

Auto switch model

With 2 auto switches

Different surfaces Note 1)

Same surface Note 1)

Auto switch

The proper auto switch mounting position is 5.5 mm inward
from the switch holder edge. The above A and B indicate values

for band mounting in the table of page 11.

The auto switch is mounted by slightly displacing it in a direction
(cylinder tube circumferential exterior) so that the auto switch
and lead wire do not interfere with each other.

D-M9LCV/M/9CIW/MOLIA

Less than 20 stroke Note 2)

Less than 55 stroke Note 2)

D-A90/A93

Less than 50 stroke Note 2)

Note 2) Minimum stroke for auto switch mounting in styles other than those mentioned in Note 1.

12



Auto Switch Mounting Series CJ2Y

Operating Range Auto Switch Mounting Brackets/Part No. N
— — — >=
(mm) o
Bore size Auto switch Bore size (mm) 3
Auto switch model . Auto switch model
10 16 mounting 10 16 —
D-M9LCl/M9L1V D-M9] >'_
o| D-MOIW/MILCIWV 25 3 D-M9C1V Y]
| D-M9IW BJ6-010 BJ6-016 g
3|D-A9] 6 7 D-Mo[IwV (Asetofa,b,c,d) (Asetofa,b,c,d)
£[b-c7oycsoic7scicsoc | 7 | 7 DoV N
& | D-H7C/H7OW 4 4 >
@ p-H7BA/H7NF D-M9[JA Note2) BJ6-010S BJ6-016S o
D-H7C 8 9 D-M9O[JAYV Note 2) (Asetofa,b,d,e) (Asetofa,b,d,e) (&)
D-M9[ /MO IV - - N
D-MOLIW/MOLIWV 3 35 Band Switch bracket (Resin)_ / o =
D-M9[JA/M9[JAV mounting ¢ | Transparent (Nylon) Note ) 2 3| m
e |White (PBT) _ g =
2 D-A9[ /A9 IV 6 6.5 @ % (—%
€ |D-A7C1/A80/A7H/A80H 8 9 ! £l N
- o
: K
g D-A79W 11 13 (Zinc die-casted) D Auto switch mounting screw @ <
D-F7C1/J79/F7CIW/J79W 7L o
D-F7CIV/F7CIWV/F79F 5 5 ;g —
D-J79C/F7BA/F7BAV ¢ >
D-F7NT a Y
[ Auto switch mounting band ] (/)]
* Values which include hysteresis are for guideline (&)
purposes only, they are not a guarantee D-C70/C80
(assuming approximately +30% dispersion) and g ] )
may change substantially depending on the Banc_i D-C73C/C80C BJ2-010 BJ2-016 >
ambient environment. mounting | D-H7C/H7CIW (A set of band and screw) (A set of band and screw) 7))
D-H7BA/H7NF (e)
BQ2-012(S) BQ2-012(S) o
(A set of a and b) (A set of a and b) —
N
1
D-M9o[] Set screw >
v % (Accessory) CNJ
\ote 4 | D-MOCIW % v Lo
Rail D-MoIwVv BQ2-012 o
. D-M9[JA Note 5) N
mounting D-MOJAV Note 5) >|<
D-A9[] t o
mounting bracket [Auto switch mounting screw]
Nut (Cylinder accessory) E
N
Note 1) Since the switch bracket (made from nylon) are affected in an environment where alcohol, =
chloroform, methylamines, hydrochloric acid or sulfuric acid is splashed over, so it cannot g (&)
be used. Please contact SMC regarding other chemicals. o
Note 2) Avoid the indicator LED for mounting the switch bracket. As the indicator LED is projected (‘% >
from the switch unit, indicator LED may be damaged if the switch bracket is fixed on the | n
indicator LED. 3 S
Note 3) When the cylinder is shipped, the auto switch mounting bracket and the auto switch will |»
be included. E
Note 4) For the D-M9JA(V), order the BQ2-012S, which uses stainless steel mounting screws. - >
N
. o
Band Mounting Brackets Set Part No. o
Set part no. Contents e —
N * Auto switch mounting band (a)
BJ2-LL0 * Auto switch mounting screw (b) ;
_ * Switch bracket (White/PBT) (e) O
BJd-1 * Switch holder (d)
BJ5-1 » Switch bracket (Transparent/Nylon) (c)

* Switch holder (d)

[Stainless Steel Mounting Screw]
The following stainless steel mounting screw kit is available. Use it in accordance with the operating
environment. (Since the auto switch mounting bracket is not included, order it separately.)
BBA4: For D-C7/C8/H7 types
Note 5) Refer to the WEB catalog or Best Pneumatics No. 3 for details on the BBA4.

When the D-H7BA type auto switch is shipped independently, the BBA4 is attached.

13

Made to Order




Series CJ2Y

il R e iy
Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable.
Refer to the WEB catalog or Best Pneumatics No.3 for the detailed specifications.

Type Mounting Model Electrical entry Features
D-H7A1/H7A2/H7B —

Band mounting "o 7 PW/H7BW Grommet (in-ine) Diagnostic indication (2-color indication)
D-F79/F7P/J79 —

S S —— D-F79W/F7PW/J79W Diagnostic indication (2-color indication)
D-F7NV/F7PV/F7BV Grommet (Perpendicular) —
D-F7NWV/F7BWV Diagnostic indication (2-color indication)
Band mounting D-C73/C76 - — -
D-C80 Grommet (In-line) Without indicator light
Reed D-A73H/A76H . = :
Rail mounting D-A80H Without indicator light
D-A73 —

Grommet (Perpendicular)

D-A80 Without indicator light

+ With pre-wired connector is also available for solid state auto switches. For details, refer to the WEB catalog or Best Pneumatics No. 3.

* Normally closed (NC = b contact) solid state auto switches (D-F9G/F9H) are also available. For details, refer to the WEB catalog or Best
Pneumatics No. 3.

S |

- ]

14



	How to Order CJ2Y Smooth Cylinder, Double Acting, Single Rod
	Specifications, Standard Strokes, Made to Order Minimum Operating Pressure
	Precautions, Weights
	Dimensions
	Pg. 2
	Pg. 3
	Pg. 4

	Dimensions of Accessories
	Auto Switch Mounting
	Pg. 2
	Pg. 3
	Pg. 4
	Pg. 5
	Pg. 6





